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1 Introduction
In RAN4 #88bis, ACS/IBB for Intra-band contiguous CA for class C in FR2 were fixed [1]. However, there is a problem that some companies have different interpretation of the current ACS requirement. This paper shows our view and propose to change wording in ACS not to cause the misunderstanding.
2 Discussion
The below table shows the current requirement of ACS for class C CA in FR1. 
-----------------------------------TS 38.101-1-----------------------------------
Table 7.5A.1-2: Test parameters for intra-band contiguous CA, BW Class C, with FDL_low ≥ 3300 MHz and FUL_low ≥ 3300 MHz, case 1

	RX parameter
	Units
	Channel bandwidth

	
	
	110 MHz
	120 MHz
	130 MHz
	140 MHz
	150 MHz

	Power in transmission bandwidth configuration
	dBm
	REFSENS + 14 dB

	Pinterferer
	dBm
	REFSENS + 45.5 dB

	BWinterferer
	MHz
	110
	120
	130
	140
	150

	Finterferer (offset)
	MHz
	110
/
-110
	120
/
-120
	130
/
-130
	140
/
-140
	150
/
-150

	RX parameter
	Units
	Channel bandwidth

	
	
	160 MHz
	180 MHz
	200 MHz
	
	

	Power in transmission bandwidth configuration
	dBm
	REFSENS   + 14 dB
	REFSENS   + 14 dB
	REFSENS   + 14 dB
	
	

	Pinterferer
	dBm
	REFSENS    + 45.5 dB
	REFSENS    + 45.5 dB
	REFSENS    + 45.5 dB
	
	

	BWinterferer
	MHz
	160
	180
	200
	
	

	Finterferer (offset)
	MHz
	160
/
-160
	180
/
-180
	200
/
-200
	
	

	NOTE 1:
The transmitter shall be set to 4dB below PCMAX_L,f,c at the minimum UL configuration specified in Table 7.3.2-3 with PCMAX_L,f,c defined in clause 6.2.4.

NOTE 2:
The absolute value of the interferer offset Finterferer (offset) shall be further adjusted to 
[image: image1.wmf]é

ù

(

)

SCS

SCS

F

5

.

0

/

interferer

+

MHz with SCS the sub-carrier spacing of the wanted signal in MHz. The interferer is an NR signal with an SCS equal to that of the wanted signal.

NOTE 3:
The interferer consists of the RMC specified in […]


-------------------------------------------------------------------------------------
The problem is the description of Pinterferer  marked as yellow: “REFSENS + 45.5 dB”. There are two interpretation as below:
· Alt1: The power of interfere signal is “REFSENS level of each CC” + 45.5 dB of intra-band contiguous CA
· This means the power of interfere is different between the upper side and lower side.

· Alt 2: The power of interfere signal is “the aggregated REFSENS level of two CCs” of intra-band contiguous CA
Fig 1 and Fig 2 show Alt 1 and Alt 2, respectively.

[image: image2]
Fig 1: Interpretation of Alt 1


[image: image3]
Fig 2: Interpretation of Alt 2
The below table compares interference level of Alt 1 with that of Alt 2 in case of CBW of 50 MHz + 100MHz:
	
	
	
	Jammer

	
	CBW(1)
	CBW(2)
	CBW of
interferer
	Total power of interferer(1)
(dBm)
	Total Power of

interferer(2)
(dBm)
	PSD of
interferer(1)
(dBm/MHz)
	PSD of
interferer(2)
(dBm/MHz)

	Alt 1
	50
	100
	150
	-43.2
	-40.1
	-65.0
	-61.9

	Alt 2
	50
	100
	150
	-38.4
	-38.4
	-60.1
	-60.1

	Single Carrier
	50
	N/A
	50
	-43.2
	N/A
	-60.2
	N/A


For Alt 1, the PSD in interferer is smaller than that in single carrier ACS case although the total power of interferer is the same level. Therefore, Alt 1 is a too relaxed requirement.
Proposal 1: For class C intra-band contiguous CA ACS in FR1, the interpretation of current spec should be alt 2: The power of interfere signal is the aggregated REFSENS level of two CCs of intra-band contiguous CA.
Proposal 2: To avoid the misunderstanding, the wording of Pinterferer should be changed from “REFSENS + 45.5 dB” to “Aggregated REFSENS of two CCs + 45.5dB”.
3 Conclusion
Our contributions are summarized as below:

Proposal 1: For class C intra-band contiguous CA ACS in FR1, the interpretation of current spec should be alt 2: The power of interfere signal is the aggregated REFSENS level of two CCs of intra-band contiguous CA.
Proposal 2: To avoid the misunderstanding, the wording of Pinterferer should be changed from “REFSENS + 45.5 dB” to “Aggregated REFSENS of two CCs + 45.5dB”.
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